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GROUP MEMBER ROLES

The cards offer a second feature: the reverse side of each
card indicates the role the student holding the card is to
perform in the group. After the students are presented
with the task for that day’s lesson, each member of the
group takes on the role designated. These roles are as
follows:

« Discussion Director

* Resource Manager

» Recorder

» Team Captain
Teachers can easily identify the roles that students are
expected to perform since students place their cards on

their desk with the side indicating the role facing up.
The roles are explained as follows:

If you are the Discussion Director, your jobisto ...

» Make sure that everyone has read the problem and
understands what the question is asking. You can
ask, “What do we know?” “What do we want to find
out?” and “Can we make a prediction?”

« Invite everyone in the group to participate. You can

use statements such as, “What is your idea?” and
“What are you thinking?”
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If you are the Resource Manager, your job is to ...

 Ask the teacher a question if all of the members of
the group have the same question.

 Get any supplies needed by the group.
« Keep track of time.

The Resource Manager’s role goes beyond taking care of
the supplies. The Resource Manager is the only member
of the group who may ask the teacher a question. Before
asking a question, every member of the group must have
the same question, and the teacher can then direct the
answer to the whole group. This helps the members of
the group become more interdependent, since group
members can answer many of their questions themselves
rather than relying on the teacher.

If you are the Recorder, your jobis to ...

e Keep track of the thinking of the group. Be
ready to answer how the group approached the
problem. What strategy did the group use to solve
the problem?

 Record the work of the group. Be organized and clear.

» Ask,“Is there anything else we need to include?”
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These practices focus on the specific actions taken by
students who are mathematically proficient.

The eight mathematical practices are:

< 1. Make sense of problems and persevere in
solving them.

K2
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Reason abstractly and quantitatively.
Construct viable arguments and critique the
reasoning of others.

.

Model with mathematics.

Use appropriate tools strategically.

o v A

Attend to precision.
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Look for and make use of structure.
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8. Look for and express regularity in repeated reasoning.
(Common Core State Standards for Mathematics, 2010, pp. 6-8)

0%6%690%%6%4%%%%

%

The authors of the Common Core carefully chose to begin
the mathematical practices with problem solving. “Prob-
lem solving is not only a goal of learning mathematics
but also a major means of doing so” (NCTM, 2000, p. 52).
Students who are engaged in solving meaningful tasks
are in the process of building their understanding. They
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are making connections, constructing arguments, ana-
&5 lyzing approaches, looking for patterns, and reflecting on
their thinking. These students are learning mathematics,
and they have opportunities to exhibit the eight math-

ematical practices.

Qbﬁﬁﬁﬂﬁ%ﬁﬁ

o%e%
090%0% %% %%
10050565 % % % %!

The Collaborative Cards provide students with opportu-
nities to develop proficiency in the eight mathematical
practices. Students solve problems, discuss strategies,
and reason mathematically (Mathematical Practices
1-3). They work with patterns and apply them in various
contexts (Mathematical Practices 7-8). They determine
whether to calculate problems mentally or use paper
and pencil (Mathematical Practice 5). By attending to the
use of appropriate vocabulary and the accuracy of their
responses, they are attending to precision (Mathematical
Practice 6). They use equations to model problem situa-
tions (Mathematical Practice 4).

The Collaborative Cards provide teachers with insights
into what individual students truly understand. As they
apply their knowledge in new contexts, students use
what they know. As one fifth-grade teacher in Grafton,
Massachusetts stated, ‘I gained insights into my students’
misconceptions. These cards are an easy way to learn
about students’ strengths”
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How much of it is shaded? The smaller triangles inside it are equal i What fraction goes in the box?
How much of the whole is one of the small t (Give your answer as a fraction.)
(Give your answer as a fraction.) (Give your answer as a fraction.)
no
Darrell thinks that all of these shapes are quadrilatera Penelope says that none of these shapes is a qu: Pierre looked at this shape and said, “The shaded pa Connie drew this figure. She says it's a quadrilateral. Do you agree?
Do you agree? Do you agree?
(If you agree, the answer is “yes! If you disagree, the| (If you agree, the answer is “yes” If you disagree, the answer is “no!’)
(If you agree, the answer is “yes. If you disagree, the (If you agree, the answer is “yes” If you disagree, the|
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Henry says that both of these pictures show ¥3. D Maleika drew this shape. Gracie says that these two pictures show the sa
She said, “This shape is not a rectangle or a square’| Do you agree?

(If you agree, the answer is “yes” If you disagree, the|
(If you agree, the answer is “yes! If you disagree, the (If you agree, the answer is “yes” If you disagree, the|
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A: Area of rectangle 3 = Area of rectangle
B: Ares of rectangle 4 > Area of rectangle 2
C: Area of rectangle 1 < Are of rectangle 4
D: Not enough information to tell

A: 25 units
B: 20 units
C: 15 units
D: 24 units

This square is divided into equal-sized | All of these shapes are quadrilateral: These two rectangles are the same size. Each rectangd
How many square units is its area? One of these shapes is not a rhombus, rectangle into two equal-sized pieces. Select the true st;
‘Which shape is it?

(Your partners have the same letter answer a: (Your partners have the same letter answer ag (Your partners have the same letter answer a:

A Square
B: Circle

C: Rhombus
D: Rectangle

Which figure is a quadrilateral? Which shape has four equal parts? Which shape does not have at least two equg

(Your partners have the same letter answer a: (Your partners have the same letter answer ag (Your partners have the same letter answer a:

1902000200000 %000 %0009 049,940,
5L

ANSWER
yes

Malik said, T see that four one-fourths make one whole Do you agree?

(If you agree, the answer is “yes” If you disagree, the answer is “no!’)

A

Which figure is not a quadrilateral?

(Your partners have the same letter answer as you do.)

A: 8 square units
B: 24 squere units
C: 16 square units
D: 28 square units

What is the area of this rectangle?

(Your partners have the same letter answer as you do.)
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ANSWER
12

Andrew wants to find the area of this rectangle.
He thinks the best way is to count the unit squares inside it.
‘What answer does he get?
(Would he get the same answer if he multiplied the side lengths?)

Jo wants to find the area of this rectang

She thinks the best way is to multiply the sidd
‘What answer does she get?

(Would she get the same answer if she counted the,

These two rectangles are divided into equal-sized
‘What is the total area of the two shapes in squ|

The area of this figure is 9 square inch
How many square inches is its perimetg

ANSWER A: Both are quadrilaterals. A: The big figure s 2 quadrilatersl.

B: Both have opposite sides that are parellel. B: The big figure s 2 trapezoid.
C C: Both are open figures. C: The big figure s 2 rectangle.
D: Both have opposite sides that are the same length D: Each triangle is one-third the size of the big figure.

O
CRRXRX

Select the statement that is not true about squares 4 Each of these shapes is divided into equal-siz] The triangles inside the figure are equal in size.
Which shape has one-half shaded? ‘Which statement is not true?

Rafe measured a rectangle. What is the width of t]

(Your partners have the same letter answer a: (Your partners have the same letter answer ag

(Your partners have the same letter answer a: (Your partners have the same letter answer as you do.)

ANSWER
20

—
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How many square units are contained in this How many centimeters is the perimeter of this The area of each small triangle is 5 square} What is the perimeter of this shape?
What is the area of the square in square
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A: pentagon B: rectangle
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This trapezoid has one line of symmet

‘Which shape has parallel sides?
How many lines of symmetry does a squarg

Which triangle is a right triangle?

(Your partners have the same letter answer a: (Your partners have the same letter answer ag

(Your partners have the same letter answer a:
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A: AD'is the same length as BC. : Triangle, rectangle

B: ABCDis 2 perallelogrem.
C: ABCD is » trapezoid.
D: BCis perpendicular to DC.

Square, circle

+ Rhombus, rectangle

: Trapezoid, triangle

Donna said that AB is parallel to DC What el 2ABC is a right angle. What is the measure of ‘Which pair of shapes shares a common attribute—|

(Your partners have the same letter answer a: (Your partners have the same letter answer ag (Your partners have the same letter answer a:

A: Rectangle : Square
B: Square . Rhombus
C: Rhombus : Equilateral triangle
D: Trapezoid

: Scalene triangle

This rectangle has only two lines of symn]

One of these shapes contains a right angle. Whic
‘Which shape does not have any lines of sy

Meg is thinking of a shape: ‘It is a quadrilateral. One|
sides is parallel, but the sides are not equal i
What is the shape?

(Your partners have the same letter answer a:

(Your partners have the same letter answer ag
(Your partners have the same letter answer a:

1902000762000 0000 04 909: 0 9%,
K EREAER KL KLAKRY

A: AB'is perpendicular to TD.
B: ABs parallel to .

C: his perpendicular toj.

D: jis parallel to CD.

Which statement is true?

(Your partners have the same letter answer as you do.)

Grafton said, “The four angles in a square and in a rectangle have the
same total number of degrees” How many degrees are in a square?

(Your partners have the same letter answer as you do.)

ANSWER
D

Mike knows that the area of his rectangular living room is 54 square
meters. He also knows that the width of the room is 6 meters.
‘What is the length of Mike's living room?

(Your partners have the same letter answer as you do.)
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A circle has been partitioned into equal-sized
Each angle measures 120 degrees. How many ang]

An equilateral triangle has three sides of equal length.
How many equal angles does it have?

How many lines of symmetry does an equilateral A rectangular yard uses 24 meters of fencing. If the 1¢
is 9 meters, how many meters is the width of
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A square living room needs 16 square feet of carpeting
to cover the floor exactly. How many feet long is one side of the room?

Marianne made this chart. How many of her entrig Frederick says, “Begin with the number of vertices A lawn sprinkler turns 90 degrees every
Then subtract the number of vertices in a re How many minutes does the sprinkler take to
(State your answer as a number.) Divide this number in half. Now, square that}
Find the answer to Frederick's puzzle
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Pedro says, ‘A rectangle cannot have an obtuse angle” Is Pedro correct?

Josh said, “The length of the side of a rhombus is 7
length of the side of a square is 7 inches. I think that
these two figures will be the same” Do you agreg Is Isabella correct?

Isabella said, "A straight angle is made up of two
50 a straight angle must measure 180 degrees. 90

Michael says, ‘A right angle can be broken into twg
Do you agree with Michael?

(If you agree, the answer is “yes” If you disagree, the answer is “no!’)
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How many degrees is the smaller angle

What is the value of x? One angle is 4 times larger than the other

An L-shaped yard has an area of 9 square feet.
How many feet long is its perimeter?
How many degrees does the smaller angle
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A: Asquare s a special rectangl.
B: A rhombus is  special rectangle.
C: Asquare and 2 rectzngle both have four 90 degree angles.

ANSWER
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D: A rhombus and a square have four equal sides.
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‘Which statement is not true about the above How many blocks must Jimmie walk to get td

and back home again? (He cannot cut across a

What is the coordinate of the indicated p
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A: Atriangle can have two right angles.
B: A scalene trizngle has two angles that are congruent.

C: Aright triangle can be scalene or isosceles.

ANSWER
C

S D: An equilateral trizngle has three congruent zngles, but the sides may
CRARARRKL

Which statement is true? ‘Which shape is not like the others?

Discuss with your partners why this is t

Which point has a y-coordinate that is twice its

(Your partners have the same letter answer a:

(Your partners have the same letter answer ag

(Your partners have the same letter answer a:
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‘What value goes in the box?

Sally is packing a box with cubic-centimete;
How many can she fit in a box that meas
3 cm long, 3 cm wide, and 5 cm tall?

Pedro earns an hourly rate walking dogs. Use the gra
how many dollars he will earn for 9 hours g

A: Triangles have 3 sides.
B: Allsqueres have 4 right angles.
C: Some triangles heve 1 ight angle.

D: Disgonals of a rectangle are the same length.

Sonia said, ‘I know that all rectangles have 4 right angles”
Based on this fact, what else can Sonia conclude?

(Your partners have the same letter answer as you do.)

‘Which point is located 4 units to the right of the origin
and 2 units above the origin?

(Your partners have the same letter answer as you do.)

The volume of a rectangular prism is 900 cubic feet.
How many feet long is the missing side?
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A 2,4
B: (3,2)
C: (4,4
D: (,4)

A: Allisoseeles trizngles sre slso scalene triangles.
B: Allsqueres are also rectangles.

C: Trapezoids and kites are quadrilaterals.

As Slem=S1mm ANSWER

B: 2 square feet = 24 square inches
C: 1 cubic foot =144 cubic inches . A
D: 150 cm =15 m

D: A rhombus is 2 special parallelogram.

0;0;0;0‘0'

Michael started at the origin and counted a tota Which statement is not true? Which statement is true?
before placing a point. Which ordered pair mig
the point on the coordinate plane?

(Your partners have the same letter answer a:

Betsy started at the origin and counted a total of 8 units
before placing a point. Which ordered pair might represent
the point on the coordinate plane?

(Your partners have the same letter answer as you do.)

(Your partners have the same letter answer ag (Your partners have the same letter answer a:
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3 ft.

: The volume of the small rectangular prism

is 6.0 cubic feet.

s many sides. A Qe

: The ares of the base of the large rectzngular

A: The volume becomes twice as much.

prismis 6 square feet.

ANSWER )
has some congruent sides.

| D Jll < some congruent angles.

B: (4,0)
C: 0,4
D: (4,2)

has congruent zngles and congruent sides
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Roberto asked, “What is a regular polygd
Choose the correct definition.
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(Your partners have the same letter answer a:
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14 m =14,000 m
1,500 g =1.5kg
2,000 m =2 km

K50

XS
&%

o,

ANSWER
1,000
S

3
LARKL

‘What value did Joe multiply or divide
to make each of these conversions?

o X X o
1900 %% o 'O o0
%ﬁﬁ“&f D000 76%0% % % %%

O

90%%%

Patetote!
RRRRRK

ANSWER
10

OIS 1234567891011
SRR HK
XXX XXX

How far is this point from the origin’
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Mary plotted (4, 6) and (1, 2) on the graph. If she
right triangle, where could she place the thi

(Your partners have the same letter answer ag

The volume of the larger cube is how many tis
than the volume of the smaller cube’

A rectangular prism measures 5 cm by 2 cm
How many cubic centimeters is its volus

B: The volume increases by 2 cubic units.

C: The volume is 4 times greater.

o

The total volume is the sum of the volumes
of the two prisms.

: The total volume is 36 cubic feet. D: The volume is 8 times greater.

Which statement about the above figure is n A cube has sides that measure 1 inch. What will happen

to the volume of the cube if the side measure is doubled?

(Your partners have the same letter answer a:

(Your partners have the same letter answer as you do.)

Two cardboard boxes each measure 10 in. x 10
Together, how many cubic inches do the two bd

What is the volume of this rectangular prism?

Your team’s answer is the volume of this prism cut in half.

‘What value goes in the box?

The volume of this rectangular prism is 341 cubic inches.
Find the height of the prism (x) in inches.
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